INDIAN SCHOOL SOHAR
PERIODIC TEST —I1 (2022 — 23)
SUBJECT: ENGLISH

CLASS- I

SET -A

Date of Exam:18-01-2023
Time Allotted: 40 minutes Max. Marks: 20

(Note: This question paper consists of 4 printed pages. Please check that you have all the pages.)

Name Roll No.:
Section GR No
Subject Teacher’s Sign with date Invigilator’s Sign with date

Section A - Reading

I. Read the passage given below and answer the questions that follow: (1x5=5)

The act of cutting down the trees is called deforestation. All the plants and living creatures in
a particular area are known as ecosystem. The plants of a particular area are called Flora. In
India, we find major forest areas in Assam, Kerala, Uttar Pradesh and Tamil Nadu. The trees
like Teak, Bamboo and Sandalwood trees are found in the forest. People cut the trees and
destroy forest for cultivation, fuel requirements and for building construction. The forests
provide a large number of commercial goods, produce oxygen and reduces global warming.

1. What is deforestation?

2. Why do people cut the trees?

3. Which are the major forest areas in India?
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4. Name the trees mentioned in the above passage. ( Tick the correct option)

a) Teak, Bamboo, Sandalwood [ ] c) Peepal, Neem, Oak [ ]
b) Bamboo, Oak, Teak [ ] d) Teak, Oak, Peepal [ ]
5. The plants of a particular area are called . ( Tick the correct option)
a) Fauna [ ] c) Flora [ ]
b) Tundra [ ] d) Taiga [ ]

Section B — Writing and Grammar

I1. Write a short paragraph on ‘My Birthday Party’ in about 30-35 words with the help

of the outline given below: (2x1=2)
Day- date and place — number of friends- dress code- games and prizes-gifts - lot of fun

I11. Complete the sentences by using the Present Continuous form of the verb given in

the brackets: (1x2=2)
1. My mother a sweater for my sister. (knit)
2. Children a snowman. (make)
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IV. Fill in the blanks with the correct Prepositions of time: (Y2x4=2)

1. We visit our family and friends Christmas.
2. Rohan’s birthday is March 28",
3. We usually go on holidays summer.
4. It rained heavily night.
V. Tick the odd one out from the given list of words. (1x1=1)
a) eat [ ] c) catch [ 1]
b) take [ ] d) hold [ 1]

Section C — Literature

V1. Read the given extract and answer the questions that follow: (1x3=3)
‘But the bow that bridges heaven,
And overtops the trees,
And builds a road from earth to sky,
Is prettier far than these’.

1. Name the bow that bridges heaven.

a) A rainbow [ ]
b) The sky [ ]
c) An airplane [ ]
d) A cloud [ ]

2. Find the word from the above extract that rhymes with ‘trees’.

a) bridges [ ]
b) overtops [ ]
c) builds [ ]
d) these [ ]

3. Where does the rainbow build a road?
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VI1I. Answer the following questions in about 15- 20 words: (1¥2%x2=3)

1. Why does the poet compare boats, ships and clouds?

2. Why was the landlord’s son surprised that Antonio was not afraid to go out to sea?

VII1. This question contains an Assertion followed by a Reason. Read the options
carefully and tick the correct one. (1x1=1)

(A) Assertion: The landlord’s son was afraid of the sea.

(R) Reason: Many fishermen died at the sea.

a) Both (A) and (R) are true but (R) is not the correct explanation of (A).

b) Both (A) and (R) are true. (R) is the correct explanation of (A).

c) (A) is true but (R) is false. (R) is not the correct explanation of (A).

d) (A) is false but (R) is true. (R) is not the correct explanation of (A).

IX. Write the meaning and frame meaningful sentence of any one of the given words:
(1x1=1)

1. drown-

OR

2. repair-
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INDIAN SCHOOL SOHAR
PERIODIC TEST —I1 (2022 — 23)
SUBJECT: ENGLISH

CLASS- I

SET -B

Date of Exam:18-01-2023
Time Allotted: 40 minutes Max. Marks: 20

(Note: This question paper consists of 4 printed pages. Please check that you have all the pages.)

Name Roll No.:
Section GR No
Subject Teacher’s Sign with date Invigilator’s Sign with date

Section A - Reading

I. Read the passage given below and answer the questions that follow: (1x5=5)

The act of cutting down the trees is called deforestation. All the plants and living creatures in
a particular area are known as ecosystem. The plants of a particular area are called Flora. In
India, we find major forest areas in Assam, Kerala, Uttar Pradesh and Tamil Nadu. The trees
like Teak, Bamboo and Sandalwood trees are found in the forest. People cut the trees and
destroy forest for cultivation, fuel requirements and for building construction. The forests
provide a large number of commercial goods, produce oxygen and reduces global warming.

1. Name the trees mentioned in the above passage. ( Tick the correct option)

a) Teak, Bamboo, Sandalwood [ ] c) Peepal, Neem, Oak [ ]
b) Bamboo, Oak, Teak [ ] d) Teak, Oak, Peepal [ ]
2. The plants of a particular area are called . ( Tick the correct option)
a) Fauna [ ] ¢) Flora [ ]
b) Tundra [ 1] d) Taiga [ ]

3. What is deforestation?

Page 10of4



4. Why do people cut the trees?

5. Which are the major forest areas in India?

Section B — Writing and Grammar

I1. Write a short paragraph on ‘My Birthday Party’ in about 30-35 words with the help
of the outline given below: (2x1=2)
Day- date and place — number of friends- dress code- games and prizes-gifts - lot of fun

I11. Complete the sentences by using the Present Continuous form of the verb given in

the brackets: (1x2=2)
1. I think our team the game! (win)
2. We an English lesson. (write)
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IV. Fill in the blanks with the correct Prepositions of time:

1. The birds fly south winter.

2. Riya had the job interview June 16",

3. She goes to dance class Wednesdays.
4. The boys start eating their lunch 12:00.

V. Tick the odd one out from the given list of words.
a) eat [ ] C) catch
b) take [ ] d) hold

Section C — Literature

V1. Read the given extract and answer the questions that follow:

‘But the bow that bridges heaven,
And overtops the trees,

And builds a road from earth to sky,
Is prettier far than these’.

1. Where does the rainbow build a road?

(Vox4=2)

(1x1=1)

(1x3=3)

2. Find the word from the above extract that rhymes with ‘trees’.

a) bridges [ ]
b) overtops [ ]
¢) builds [ ]
d) these [ ]

3. Name the bow that bridges heaven.

a) A rainbow [ ]
b) The sky [ ]
c) An airplane [ 1]
d) A cloud [ ]
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V1I. Answer the following question in about 15- 20 words: (1¥2%x2=3)

1. Why does the poet compare boats, ships and clouds?

2. Why was the landlord’s son surprised that Antonio was not afraid to go out to sea?

VII1I. This question contains an Assertion followed by a Reason. Read the options
carefully and tick the correct one. (1x1=1)

(A) Assertion: The landlord’s son was afraid of the sea.

(R) Reason: Many fishermen died at the sea.

a) Both (A) and (R) are true but (R) is not the correct explanation of (A).
b) Both (A) and (R) are true. (R) is the correct explanation of (A).

c) (A) is true but (R) is false. (R) is not the correct explanation of (A).

d) (A) is false but (R) is true. (R) is not the correct explanation of (A).

IX. Write the meaning and frame meaningful sentence of any one of the given words:
(1x1=1)

1. repair-

OR

2. drown-

Page 4 of 4



	PT II (2022-23) - CLASS III - ENGLISH- SET B

